‘I ’I I: I Mounting instructions

9-21013-335 & 9-21013-336

Screen holder and keyboard shelf

0
‘ ﬂ
f ]

-
\
\J

11117



‘I‘I I-. I Mounting instruct ions

11117



‘I QI I-. I Mounting instructions
a 1

@‘\ Screw M5x12 (4x)

Height adjustable

11117



‘I QI I-. I Mounting instructions

Screen holder and keyboard shelf with thin client holder 3

9-21013-33

9-21013-335 or 9-21013-336

11117



‘I QI I-. I Mounting instructions

%)
Q
e o Screw M5x12 (4x)
S ]
Q \
Q \}
: NG N ’ s
s °
) Q @
/ ( Q
Q \%
s

Nut M5 (4x)

Screw M5x12 (4x)

Q

Nut M5 (4x)

11117



‘I QI I-. I Mounting instructions
6

11117



